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17 ex=1i|p(ee)|(e) B
3-4 e = Int(/) | Prim(p, e, e) HIEHEX
7.9 + 10
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Statement ()
type expr =
printf ("The answer is %d\n", 17); | CstI of int (* CstI(i) #)

x=y*2+1; | Prim of string * expr * expr (* Prim(p,el,e2) *)
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C » Java Tl A H 5, 1. CstI(10)

OCaml Tl&, print XIZHYTHEDEATH S (unit 2K T H), 2. Prim("+",CstI(2),CstI(-3))
B 3. Prim("+",CstI(20),Prim("*",CstI(-3),CstI(5)))
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Short answer — [FFHGREEY ] THEATLZI W, _
type binary_tree =
| Leaf of int

OCaml ® Y
(‘.’.T%jﬁ% E':J,bi\%%é\bﬁb\j)‘j 7§L\Li—’ﬁﬂ§”b‘ﬁb‘1<%i£bo | Node of bj_nary_tree * binary_tree
#: int, bool, float, string 7% &,
AL int, bool, float, string 7 5l 1: Leaf(13) : binary_tree

il 2: Node (Leaf (13) ,Node(Leaf (5) ,Leaf(7))) : binary_tree
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[Int(n)] =n

HEo LED 20K
[P1us(er, )] = [e1] +[e2]

type binary_tree’ =
| L of float " - o 2
| N of float * binary_tree’ * binary_tree’ ZDOMDIED e lZx LT [e] IFREFEEL T 5,

let rec eval e =

i 1: L(13.5) : binary_tree’
il 2: N(3.1,L(13.5),N(4.1,L(5.3),L(7.0))) : binary_tree’ match e with
HAOTHHEBREIZ TR 0L LHEEEZERTE S, | CstI i ->1i
| Prim("+", el, e2) —> (eval el) + (eval e2)

| _ -> failwith "unknown expression"
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CK Bt (C=constrol string or code, K=continuation or stack)

let rec eval e = HIREEE eval DEFRZLMED S, KEIE L e
match e with e LT BENRNE—VTYF

- Rt . e — eval(e | init)
| CstI i ->i e M Cstl i DEES i KT,

| Prim("+", el, e2) e M Prim(...) B 5 eval(Int(n) | K) = apply(K | m
~> (eval el) + (eval e2) eval(Plus(ei, &) | K) — eval(e; | plusl(ep): : K)
el DFIHEAEHR L e2 DFHEAERZ L eval(Times(er, &) | K) — eval(e; | timesl(e): : K)
b D &R apply(plusl(e): :K | n) — eval(e | plus2(n)::K)
_ —> failwith "unknown expression" ;
°AP N ly(plus? K — apply(K +nm =
o M EABMAOI A 5, fail T5 2PpLy(plus2(na): K | m) = apply(K | m) - (natm =)
apply(init | n) — n (BREHER)
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failwith "..." &, T —AvE—Y2HUTEFEKT, T 19
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